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Run 5630 quartetwize, posHE vs time Run 5630 guartetwize, negHO vs time

posHD

14

L ”; i u.

]l "

e

m

C———
S
" T
B

LT HE]

1 1 I 1 1 i I 1 1 1 I 1 'I I.I 1 1 1 I 1 1 1 I 1 1 1 ‘ 1 1 1 1 1 1 1 I:':1|:"-
20 4D &b

(TR TV TR VITTIEN LT lllllll IIH ii [t i

1 1 I 1 1 l I 1 1 1 I 1 'I 1 .I 1 1 1 I 1 1 1 1 1 1 1 I 1 1 1 I 1 1 I:':‘“:". l:l
20

jaac]

4l & T 100 120 14ﬂ 180 180

=

ETH 10 120 1ED 1Eﬂ
Entry% Entry&

Run 5630 quartetwize, diffl ve time Run 5630 guartetwize, summ vs time

dilid

sarmi

28

20

L ELIEL

e

_IIIII|IIII|IIII|IIII|IIII|IIII

||||l|| e P .JII ] ] ||||||||||J-C1|:"-

=

jaac]

=
5]
=
i
=

&l 1&0 120 14D 1EQ 180
EntryS

Run 5830 quartetwise, posH4 vs time

asymilsu

Bem

e I e Tl T A T
140 ' ' ' '

&y

&l

40

20

20

40

fac]

_IIII|III|III|III|III|III|III|III

130

10a

Hir

ik

4

20

=




dili4

pbskd

asymEsu

| =

[=

=

Run 5630 gquartetwize, posH4 vs time

45

40

13

3

25

20

18

0

iy

jac]

0N, puinty  amiyLg
El &l ]

JRYNAL FOA R, URRh iy Al BN
{r 100 130 144 180 180

Entry%

Run 5630 quartetwize, diffd ve time

000

2000

2000

III|III|III|III|III|IIIf.
=

jaac]

&y

&l

40

20

20

40

—ymm—, s,
-

L - N

=Y - .

o TNy = 1 .

N NS ¢ -
o R s . -

o ——

fac]

10

40

rieg 4

a5

an

25

20

15

iie

1K

surrmd

hH

ik

=11

40

an

20

i

E

Run 5630 guartetwize, negH4 vs time

= —
T r——

anl

'H.
|

]l
i

I

I

"

m

il
i

Ly
—
=

Lo

Py
40

CURRRRLA [apmEn gl AAED §)
&l By 100 150 140

Run 5830 guartetwize, summd vs time

MUTTTANILTT
180 180

EnbryS

ST
e

—_—. e

L

TR

ALY

L .I.ﬁ.‘llp I' |I.!-I-.I

E
i i

il

——— e, —

PERARAN, ERRI 44  QABApD  NprAnE

=

Bem

140

130

10a

Hir

ik

4

20

20

&

H

&y

101

130

140

Run 5830 quartetwise, posH4 vs time

180

-

o o e R S

10



Sty

DEhgT

werlFng

Run 5630 quartetwize, USbg1 ve time

500

400

A

20

ﬂ _l 1 1 I 1 |_| I 1 1 1 I 1 1 |_I 1 1 1 I 1 1 1 I 1 1 1 _I- 1 1 I 1 I 1 1 1
20 a0 &0 a0 00 20 140 160 180

jac]

wa tima

2800

2000

1500

1000

500

=]

jac]

Run 5830 quaretwizse, variFing vs timea

7

&0

500

400

eI

200

=]
=]

-]
=

.
=
el |
=

Run 5630 guartetwize, USbg2 ve time

aea

USng2

&0

N

&0

500

400

A

200

100

'
11
—|!|
1

E]
—_
=
=]
=]

.
=

[
=

P
=

DEhg2

000

2800

20010

15010

100

500

o
=
=

=

dnmnmmmime

S LA

B UL T T TN T

=

I
&

1001

herizFing

1N

&0

400

200




